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Multiple Choice Questions:

2 points each:

_____   1.  If three investment alternatives all have some degree of risk and different


      expected returns, which of the following measures could best be used to


      rank the risk levels of the projects?

A. coefficient of correlation 

B. coefficient of variation

C. standard deviation of returns

D. net present value

_____   2.  Capital budgeting is primarily concerned with:

A. capital formation in the economy

B. planning future financing needs

C. evaluating investment alternatives

D. minimizing the cost of capital.

_____   3.  The after-tax cost of preferred stock to the issuing corporation:

A. is the same as the before-tax cost

B. is usually lower than the cost of debt

C. is dependent on the firm’s tax bracket

D. is lower than the before-tax cost.

_____   4.  If a company’s stock price (Po) goes up, and nothing else changes, Ke (the


      required rate of return) should

A. go up

B. go down

C. remain unchanged

D. need more information

_____   5.  Babe Ruth Jr. has agreed to play for the Cleveland Indians for $3 million per


      year for the next ten years.  What table would you use to calculate the value of


      this contract in today’s dollars?

A. present value of an annuity

B. present value of a single amount

C. future value of an annuity

D. none of the above.

_____   6.  What is generally the largest source of short-term credit for small firms?

A. bank loans

B. commercial paper

C. installment loans

D. trade credit

_____   7.  The three primary policy variables to consider when extending credit 


      include all of the following except:

A. credit standards

B. the level of interest rates

C. the terms of trade

D. collection policy

_____   8.  Which of the following securities represents an unsecured promissory note


       issued by a corporation?

A. certificates of deposit

B. savings accounts

C. commercial paper

D. money market fund

_____   9.  LIBOR is:

A. a resource used in production

B. an interest rate paid on Eurodollar deposits in the London market

C. an interest rate paid by European firms when they borrow Eurodollar

deposits from U.S. banks

D. the interest rate paid by the British government on its long-term bonds.

_____ 10.  As the time period until receipt increases, the present value of an amount at


      a fixed interest rate:

A. decreases

B. remains the same

C. increases

D. not enough information to tell.

_____ 11.  Which of the following is not one of the components that makes up the 


      required rate of return on a bond?

A. risk premium

B. real rate of return

C. inflation premium

D. maturity payment

_____ 12.  The cost of common stock is usually greater than the simple dividend yield


      because:

A. investors perceive risk in common stock

B. investors expect both a current dividend and future growth

C. dividends are not tax-decuctible

D. the company must make profits before it can pay dividends.

_____ 13.  For many firms, the cheapest and most important source of equity capital


      is in the form of:

A. debt

B. common stock

C. preferred stock

D. retained earnings

_____ 14.  If an investment project has a positive net present value, then the internal


      rate of return is:

A. less than the cost of capital

B. greater than the cost of capital

C. equal to the cost of capital

D. indeterminate; it depends on the length of the investment.

_____ 15.  As the cost of capital increases

A. fewer projects are accepted

B. more projects are accepted

C. project selection remains unchanged

D. none of the above.

_____ 16.  If one project has a higher standard deviation than another

A. it has a greater risk

B. it has a higher expected value

C. it has more possible outcomes

D. it may be riskier, but this can only be determined by the coefficient

of variation.

_____ 17.  The costs of carrying inventory do not include:

A. the interest on funds tied up in inventory

B. the cost of warehouse space

C. ordering costs

D. insurance and handling costs.

_____ 18.  General Rent-All’s officers arrange a $50,000 loan.  The company is required


      to maintain a minimum checking account balance of 10% of the outstanding


      loan.  This practice is called:

A. an installment loan

B. a compensating balance

C. a discounted loan

D. a balloon payment.

_____ 19.  An annuity may be defined as

A. a payment at a fixed interest rate

B. a series of payments of unequal amount

C. a series of yearly payments

D. a series of consecutive payments of equal amounts

_____ 20.  The component parts of the cost of capital should be weighted by their


      proportion in the firm’s

A. current capital structure

B. historical capital structure

C. optimum capital structure

D. expected capital structure

PROBLEMS:

I.   Estimating the internal rate of return:   8 points

      A project has an initial outlay (cost) of $3, 817.  The project has a three year life.

The estimated cash flows each year are as follows:  Year 1: $1,000; Year 2: $2,000;   Year 3: $3,000.   Using the `annuity equivalent’ estimating technique that we used in class, will the real internal rate of return on this project be equal to, less than, or greater than 20%?   SHOW WORK!  

II.   Cash conversion cycle:   6 points 

       A firm has 50 days of inventory on hand.  On average, the firm takes 20 days to pay its bills.  Also on average, the firm waits 40 days to collect its accounts receivable.  What is the firm’s cash conversion cycle?

III.  Cost of Capital:  20 points

      A firm can raise long term funds at the after-tax costs noted below.


Debt:   $ 0 to $320,000 …………… 6 %

                        Over $320,000  …………… 8 %

            Preferred:  All it wishes ………….. 17 %

            Common:  $ 0 to $200,000 ………. 20 %



 Over $200,000 ……………24 %

      If the firm’s optimal capital structure is 40% Debt, 20% preferred and 40% common equity, what are the break-points in the cost of capital curve?  (Hint: there are three of them.)  Note the dollar amount and the cost for each of these segments.

IV. expected Value:  10 points

A firm is considering investing in a project.  The project  will generate cash flows of 3000 if the economy is in deep recession (with a probability of 10%); cash flows of 3,500 if the economy is in mild recession (with probability of 20%); cash flows of 4000 if the economy is normal (with a probability of 40 %); cash flows of 4500 if the economy is in a mild boom (with a probability of 20%); and cash flows of 5000 if the economy is in a major boom (with a probability of 10%).  What is the expected value of this project?

V.   Coefficient of  Variation:  6 points

       A firm has two projects.  Project A has an expected value of 8000, with a standard deviation of 1096.  Project B has an expected value of 8000, with a standard deviation of 2190.  What are the coefficients of variations for the two projects?

VI.   Capital rationing:  10 points

A firm has nine non-mutually exclusive projects it can invest in.  The projects, the respective internal rates of return and the project costs are noted below.  If the firm can invest in only $1,000,000 of projects, which should it select?

     Project                      IRR                             Cost


A

   15 %


$ 300,000


B

   14 %


   600,000


C

   13 %


   100,000


D

   17 %


   100,000


E

   19 %


   200,000


F

   22 %


   100,000


G

   23 %


   200,000


H

   21 %


   300,000


I

   16 %


   400,000

